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ﬁg TREOBEBOSILEHOKRES TEFEDOHBEILHNOKRES TREOBBOSILEIDOKRES TREOHBSSLNDKRES
7 100kN/mM%EBZ 5 - -~ - -|3mEFBZD -~ - -] 100kN/ Mm% % % - -~ -|3mZEiBZ D -~ - - -
s 1.00 | 0.00 ~ 374 47.07 | =hds | 000 ~ 374 | 214 10.83 Thst 1.00 | 5.00 ~ 56.00 47.07 | =hs | 6.00 ~ 6.00)| 2.14 10.83
2 100kN/mM%BZ 5 - -~ - -|3mEFBZD -~ -] 100kN/ Mm% % % -~ -|3mZEiBZ D -~ - - -
s 1.00 | 0.00 ~ 5.43 67.73 | TSt | 000 ~ 543 1.99 10.05 Thst 1.00 | 6.00 ~ 6.70 67.73 | TS | 6,00 ~ 6.70| 1.99 10.05
3 100kN/mM%EBZ 5 - -~ - -|3mEFBZD ~ -] 100kN/ Mm% % % ~ -|3mZiBZ D -~ - - -
s 1.00 | 0.00 ~ 681 86.14 | #nUst | 000 ~ 681 1.91 9.67 Thst 1.00 | 5.00 ~ 880 86.14 | Ths | 5,00 ~ 880 | 1.91 9.67
4 100kN/mM%E{BZ % - -~ - -|3mEFBZD ~ -] 100kN/ Mm% % % ~ -|3mZEiBZ D -~ - - -
s 1.00 | 0.00 ~ 6.48 81.64 | FnSt | 000 ~ 0.00| 1.72 8.69 Thst 1.00 | 6.00 ~ 7.70 81.64 | ThS | 600 ~ 7.70| 1.72 8.69
5 100kN/m%E#BZ5| 100|000 ~ 08| 11283 |3mEHBZD ~ -1 100kN/mM%&#z25 | 1.00 | 10.71 ~ 1320 11283 |3m%#z5 -~ - - -
s 1.00 | 0.86 ~ 864 100.00 | =nhst | ooo ~ 864|228 11.54 Thlst 1.00 | 5.00 ~ 1071 100.00 | =nLSt | 6.00 ~ 1320| 2.28 11.54
P 100kN/mM%#BZ 5 - -~ - -|3mEFBZD ~ -] 100kN/m#%#8Z% % ~ -|3mZEiBZ D -~ - - -
s 1.00 | 0.00 ~ 7.54 96.48 | =S | 000 ~ 7.64 | 2.47 12.50 Thist 1.00 | 6.00 ~ 1130 96.48 | ThUS | 5,00 ~ 11.30| 2.47 12.50
100kN/ Mm% Z 5 ~ 3mEBZ D ~ 100kN/mM%E#BZ 5 ~ ImERZD ~
Ths ~ ZzhLst ~ ZhLst ~ Ths ~
100kN/ Mm% Z 5 ~ 3mEBZ D ~ 100kN/mM%E#Z 5 ~ ImERZD ~
Ths ~ ZzhLst ~ ZhLst ~ Ths ~
100kN/ Mm% Z 5 ~ 3mEBZ D ~ 100kN/mM%E#BZ 5 ~ ImERZD ~
Ths ~ st ~ ZhLst ~ Ths ~
100kN/ Mm% Z 5 ~ 3mEBZ D ~ 100kN/mM%E#BZ 5 ~ ImERZD ~
Ths ~ ZzhLst ~ ZzhLst ~ zhs ~
100kN/ Mm% Z 5 ~ 3mEEZ D ~ 100kN/mM%E#BZ 5 ~ ImERZD ~
Ths ~ ZhLst ~ ZhLst ~ Ths ~
100kN/ Mm% Z 5 ~ 3mEEZ D ~ 100kN/mM%E#BZ 5 ~ ImERZD ~
Ths ~ ZzhLst ~ ZzhLst ~ zhs ~
100kN/ Mm% Z 5 ~ 3mEEZ D ~ 100kN/mM%E#BZ 5 ~ ImERZD ~
Ths ~ st ~ ZhLst ~ zhs ~
100kN/ Mm% A5 ~ 3mEEZ D ~ 100kN/mM%EHBZ 5 ~ ImERZD ~
Ths ~ st ~ st ~ zhs ~
100kN/ Mm% Z 5 ~ 3mEBZD ~ 100kN/mM%E#BZ 5 ~ ImERZD ~
zhst ~ ZhnLst ~ ZhnLst ~ zhs ~




